ELKABLY TEAM

Basics expressions
n m
(3g+7r)(g—>r+3) 2x - 1)(x+)5)
Which of the followin lynomialg’is equivalent to i
the expression above? The given expression 1s equivalent to ax” + bx + c,
% where a. b and ¢ are constants. What 1s the value

A) 4 +2t+3 31 21 of b?

)3q:—-15qr+9q+7r L~ = = T
©) 3q: +6q—qr—12r: +10» 5

& N —

. : +9
@Bq‘+9q-8m--35r°+2lr 2% @
— —

Ibrahim 1s x years old and Jamil)is seven If  p(x)=@ —7x+5 and

years younger | In five years) how old will g(x) = —=3x°> £ 7x%+ 2x — 5, which of

Jamil be? the following expressions is equal to the

x =7 +3 difference p(x) - q(x)? .

A x+2 . x ¥ -
@x_z Z*Z" Ao 4X —9X+10 ;374}

C 2x—2 B. —3x° — 6x% — 5x

D. x+5 X —3x% - 8x%+9x — 10

(D, 3x° +8x* —9x + 10
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< +25=(>-5 )(’”’53; .
@—3)(&{_\'2) 5 (ZQ ) (a— |)+3(Zq——?> /K.

Basics EXpressions
(22-%) (2243 +a=1+3)

R,

%’Z}( S0 +5 )

Which of the following is equivalent What is the resulting coefficient of x
o B+ (2a-3)(a-1)+ when -2x+3 1sQnuTtlp11ed\by -3x-2?
3(2a-3)? A. -9 /57( b 4

(3a +5)(2a - 3) (@ =2 ® .

. 2(3a+5)2a—-13) yor-9+22D4-D ¢ 5 Yx - 9% = (B>
C. (2a —-3)(a +5) +3(2x - g ¢
D. 2a-3)(3a+7) ot

R (312479 (2”)’33
2

w -

R - -2) sz—ﬁi\-}x)—é};)
25x@+4. 5 s 2) &ax +b :/thich of tl}e folé:)wix;g polynomials is equivalent to
it;ntsl:; fﬁﬁl;):rsabove, a,b and t are eexl;fesswﬂa ve: R - 2’2?_ _,}z>= X
. g || @

) o 25xT-22€ L g 5" - a
- 52 (5’7’2) 4 7 C) 5x*-5x-3
G 20 EX@ D) 5x°-9x-3
. =15
10

The( difference) between twice a
number and two @three times the
number. Which of the following
represents the equation that can be

" a p used to solve the number?
25 9 ,2a° N da— L= 3%
o = 5 5 A 2x—2=3(x—2)
25 B. 2—-2x=3
, = 25U
@ 25 ﬁx% +/0 g @2x—2=3x
> . 2x—3x=3+x
Mr. Kably
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Basics

Given 2x —8 = 3y + 4 . what 1s thc
valuc of x if y equivalent to the
squarc of 27

2
_ 9
A4 \S: G —
B. 8 Q?[—'g - 3(H> +'l4
@12 x
D.24 [ “solve

Shi FH
Sﬂ 1-2: \"x+10

Which of the following values of x is a solution to the
equation above?

A) -1
B) 1
4

C)
 «

If|—2b — 3| < 7, how many possible

integer values of %

B + 3
_ Y \<\7«)"
"
-2
g B b7 F
_l)o, 2
_:7}"‘47/}/ g
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Revision |

Wy :
If <4 l, what is the valuég of 2?

3b” ™5 a

If 3<2x+7<15, which of the
following integers represents the

smallest value forx + 3 7
A. 1

If ‘%%—‘- + 14y = ;_q’Z , what 1s the value
of &x — -g- y ?




Basics

z(x 1) 5 _2
T 4] 8

What 1s the solution to the cquation

7
above”’ -

G
Ax=-% OO
28

40

27
C.x = ——
10
3
D x=——
40

12x + 1| =

Which of the follwin /g\gs possible value-ef x?

=

Jx+hs S - 2x+1/==3>
il Y £
&j:_/
2
2
@3 Z/yc [, 6:—3)

A Py x

Sx2-3(l -X)—-2x(x+5)

Which of the following polynomials is equivalent to

the expression above?

(A 3x? - 7x~3

B) Ix’ +7x—3

L_3 £3X - 2%

) —

—

_Fx -3
C) 5x2-5x-3 - 3%

D) 5x%-9x -3
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Which point could be the solution for
the inequality above?

7‘ (0 3) 2/0)——3 = "'Z
B —8) 2)—(3) = 1¢

. (4,
@%3 4) 2w - ¢
D. (4,12)

Jackie has two summer jobs. She works as a tutor,
which pays $12 per hour, and she works as a
lifeguard, which pays $9.50 per hour. She can work
no more than 20 hours per week, but she wants to
Flgasti$220 per week. Which of the following
systems of inequalities represents this situation in
terms of x and y, where x is the number of hours

she tutors and y is the number of hours she works as
a lifeguard?
<20

AL 12x+ 9.5y < 220
x+y=220N

7 222

B) 12x+9.5y < 220
x+y<20+4—

@ 12x + 9.5y 2 220c—
xX+y<20o—

P 12x+9.5y = 220
x+y2 20?<

(2x-1)(x+)5)

g . . s g
The given expression 1s equivalent to ax“ + bx + c,
where a, b and c are constants. What 1s the value

of b?
% =D =5
:Z""/Z 4’@-_— i \J\/
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Basics Circles
(i cles
7
2 2 2 <"
(I-’li) ’*'(3'/0 oL . o0/
XZ.,I-&:(-;-:S 4-103.-_—6' " -
o <1’\ / K> A b
s« Jrt criter=(5 )
ﬁadms.-: YZ i R >
edns = N (= () C
Z [c, - ? AY \,—‘y}
Y 17" r, =C
yi A
p - /{ % —
(y"'z) T(g - ) | & —//0’5
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Basics

y. ’
(X=1+(y-

The equation above forms a circle when graphed in
Lhe xy-plane. What is the radius of the circle?

In the xy-plane, a ciurcle has center (0, 0) and
radius 2. Which of the following 1s an equation of

this circle? - z
o (0

A)2x"+y" =0 <)C/ ) ZLS

x2+},2= )CZ 4,\.5

O)(x+2)'+(y+2)°=0
D) (x +2)"+(y+2)" =4

P
B : 'r:_ :4 F:, I Y TF .\ \“

Circles

3

x2+:7_(‘)x+y"' + 16y =-20

The equation above defines a circle in the xy-plane.
What are the coordinates of the center of the circle?

A) (-20,-16) /2&

(B>(-10,-8)
C) (10,8) L=,
D) (20,16)

M f Knowledge
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What is the radius of the cirde in the xy-plane with
equationx” + y° =257

Which of the following is an equation of a circle
in the xy-plane with center (3, —1) and a radius
of 4?

A) (x-3)+(y+1)%2=4

B) (x—3)2+(y+1)?=16

C) (x+1)*+(y-3)°=4

D) (x+3)*+(y—-1)2 =16

[n the xy-plane, the graph of
2x* - 6x+ 2}'2 +2y =45 isacircle. What is the

radius of the circle?

A) 5
B) 6.

C) v’%

D) v’r._O

J
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Basics Circles

In the xy-plane, what is thex-coordinateXf the The graph of x: - dx+ y2 +6y-24 =0 in the

: . . ek
center of the circle with equation @f xy-plane is a circle. What is the radius of the circle?
xz-jx+y2+2yx-1? -

A) 26
X = ’//i @ B) \/ﬁ
C) V37
D) \76
71 ﬁi—- =
Ny N8y =8
The equation of a circle in the xy-plane is shown
above, What i the radius of the circie?
r j(%z 25757 S
Mr. Kably
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Basics System of Equalions Part A

X B\ = 8 QJ-’--g,.:: 8 Finat (2>
®)C- = X 9(_,23:_1 CanCel —— .
A O
<3 @M@(Q 7)) L&
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Basics System of Equations Part A "

1

= x+y=10 ex—y=-4
L X=-y=§ 2x+y=4

If (x;, y,) is the solution to the svstem of equations
above, what is the value o@ For the solution of the system of egquations
Al 9 above, what is the value of x 7
B}y 2
C)) 1 A =4
D) -

) =] B -2

c. 0

D. 2
Y
ﬂﬁ
x—-2y=3
2x—-2y=8

The ordered pair w v ) satisfies the system of
equations above. What is the value of y ?

G=2)

2x —3y=22
—4x+Sy= 66
If (x, v) 1s the solution of the system above, what
1s the value of v?
X+y=21
X=2ym=~3

According to the system of equations above,
whal is the value of x 7

Mr. Kably
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Which ordered pair, (x, v}, is the solution to the

system of equations above?

5=~
A) (5 -]
B) (3,1}
C) (1,2]
p) 1.3
x+y=7
x-y=1

If (x, v) 1s the solution to the system of equations

above, what 1s the value of x” @

(2t 5y =
3x = —4y + 45 3*%+73=4s

From the system of e ions above,
what 1s the value df 2x + 7y *
X =)

A. —D7
B 13
Lo 39

(D, 69

VB:O\ 2(;) 4..:(0))

Math is Root of Knowledge
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2X+y=8
X+4y=11

If the x- and y-coordinates of a point in the xy-plane

satisfy the system of equations above, what is the
value of 6x + 10y ?

2x+y=)>

x+y=3

If (x, v) 1s the solution to the system of equations
above, what 1s the value of 3x + 2y?

A)l
B) 2
C) 8

D) 15

X+y=-3

2
3
X
3

y
+5=-3

What 1s the solution of the above system?

A.

~ NN~

(=6,1)
(6,9)
(6,=7)
?
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Basics System of Equalions Part B

i3 E

A truck contains 15 identical boxes

A library sells new and used books. If, out of | (hat are ecither red or blue.
the total of 474, there are twice as many n€W | The red box weighs 3 kg and the blue

books as old ones. How many fiew books are | box weighs 2 ke.

- . 0 If the total weight of the boxes 1s 36
there in the libr ' kgs, what 1s the difference between the
red and blue boxes 1n the truck?

A. 316 A. 6
B. 158 -l
C. 352 e
D. 238

Ed

2

iﬁ:ﬁ&tﬂ%venue of a magic show is Amina went to the flower ShOp and
16.360 EGP) If each adult ticket to attend cT 3

theshow cost 12 EGP and each children bought 2 roses and 5 daisies for 6
ticket cost 2 EGP, then what is the EGP. Lara bought from the same
number of tickets of each type sold if shop, 4 roses and 2 daisies for 4 EGP.

3.480 tickets 1n all were sold?

How much should Ahmad pay to buy

A. 930 adult tickets and 2.550 children 9) roses and 9 daisies"

tickets
B.) 940 adult tickets and 2.540 children
tickets A. 1 EGP
C. 955 adult tickets and 2,525 children B. 1.5 EGP
tickets
D. 960 adult tickets and 2,520 children C. 2EGP
tickets D. 3 EGP
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